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B | Whatis the probabibiy that the flop comains exactly two diamonds? -
a 10.0% b 13187 v 14.5% J 1V ¢. Nonc ol the above

D 2 What is the probability that the flop contans exactly o diamonds given your two hole cards
) Lk 8L L0 L J

arc the ace and hing of dramonds”? ( 1 ) ( 4 )
a 85887 b Y% C.9.54% d 109% ¢. None ol the above 2 l
P(2 dlamohdfl AOK Q) NI

D 3 Supposeaflop s sud o "have a Hush draw posstbility ™ il it contains exactly two cards b lh(
same suit, plus another card of a ditferent suit. For instance, A¥ K¥ 104 would have a flush draw
possibility, but A% K¢ 108 would not. and also A® K® 10% would not. What 1s the probability

that the flop has a flush draw possibility? ( !3)( ¢+ ) 1% )( 3)
a. 4R 2% . b.49.1%. ¢. 51.2% d. 55.1%. ¢. None ol the above. z | I |

———— e

ID\ 4. What s the probability that lh@urd\ on the fTop are all of the same suit? ( GJ)Z )
a. S.18%. b. 5.56'%. C.6.02%. d. 6.54%. ¢. None ol the above,

1%
[3* 5. In the hand from High Stakes Poker betw een Daniel Negreanu and Gus Hansen, Hansen had ( i )
_S¢ 5% and Negreanu had 68 6¥. The board was Y% 6¢ 5% 56 84 Afier the betting on the turn, the ( 52 )
size ol the pot was&§ 111,700 Alter the 8 of spades was revealed on the niver, Hansen checked, K
Negreanu bet $65,000, Hansen raised $167.000 more 1o a total of $232,000, and Negreanu

called. The total pot was $575,700. Given only their cards and the board, how much did Hansen
gain due to luck and skill on the nver?

. 2788 due 1o luck and 232,000 due to skill. b, 2539 due 1o luck and 232,000 due to skill.
. 2788 due to luck and 245,000 due to skill. ~d. 2539 due to luck and 245,000 due to skill.
. 2737 due 1o luck and 245,000 due to skill. [ None of the above. 1609 ( |i1,700 ) - P(wllﬂ )

_ btfore
D 6. Let X = the number of black cards on the flop. What is E(X)? Zx2%7000 xl00] *(11,700)

a. 0.500. b. 0.875. c. 1.24. d. 1.50. ¢. None of the above, — ¢%Z,990
E(x)= OxPxeo) + [ xP(x=13+22P(x=2)+ 3 (p{x=3))
D 7. Let X = the number of clubs in your hand, so X must be O, 1, or 2. What is QXZQ? ( 3 )(T‘ }
P

[ T I =

a. 0.300. b. 0.512. ¢. 0.548. d. ().618 e. N(mc of the above.
E(X )"Uz\cl\'\) ".. "\"7"";"/ 1) 4 Fﬁ_ (2)

1%

'L

B 8. Suppose you play_10 hands of poker. Let X = the numbcr of lhesc hands where you are dealt
two suited cards, 1.e. W “where vour two cards are both of the same suit. What is SD(X)? ( )
a. 1.09. B. 1.34. ¢. 1.76. d. 1.92. ¢. None of the above. /"lf’1
52
A 9. Let B = the event that 1@m the flop are all spades. Let C = the event that the 3 cards )
on the flop ai <all blackd) Fin (BIC) P(Bana C)/ P(c)
a.11.0%. b 133G, . 128%. . 133%. e None of the above.

C 10. Let X = the lowest number of the 3 cards on the flop, where J= 11, Q =12, K= 13, and ace

= 14. Let F denote the cumulative distribution function oL X, What is F(10)? Hint: the I minus
trick can be helpful here. 1%
a. 89.3%. b. 91.2%. ¢ F1.5%. d. 98.2%. ¢. Nonc of the above. ( )

F(x) = P(x £10) (“) |

e+ (R0 O ()T (%

P(x=I2)+>71 ,con _— > =3 0 |17

3

v_.‘i. = _ - \ 7

S-S

Eex=TT) -




£ 11. Let B = the event that all the cards on the (op are hearts. Let C = the event that the tlop
contains at Jeast one ace. Are B and C independent?
a. Yes. b. No. ¢. Cannot be determined. d. Nonc of the above.

12. Consider just the first 4 board cards. What is the probability that these 4 board cards are all of
different suits?
a. 8.O%. b. 10.6%. c. 119%. d. 12.3%. ¢. None of the above.

D 13. A “paired board” means a board wheg€at least 2 [ the cards have the same number. For
instance, KK Q 23, KKKQ3, KKKK3, and KK Q33 would all be examples of paired
boards. What is the probability of a paired board? Assume all 5 board cards arc going to be seen
regardless ol the players’ cards and actions.
a. 382%. b. 40.1%. c.43.7%. d. 49.3%. ¢. None of the above.

D 14. Supposc in a given tournament every player started with 10,000 chips, and there were 2,000
players. After 7 hours, 500 players are lelt. Supposc you choose onc of these 500 players at
random and let X = the number of chips she has left. What does the Markov inequality tell you
about P(X = 100,000)?
a. P(X 2 100000) £0.257. b, P(X 2 100,000)<0.353. ¢ P(X2 100,000) < 0.371.
— d. P(X 2 100,000) <0.400. ¢. P(X=100,000) < 0.429. f. None of the above.

i

p(cy= P(clB)
p(c) = P(ar lcas+ onc Ac~) = 1= P(ho Ace) = | — (____

[}a”hcai"h’): /—\%\(no/aa';l all heartr) (G’f)

P(q-i-l{qu-
fac | 3 (_‘*/_)(:0.1770

(
((3)\ S Va ('?3,

) % S
P( Pazud board) P<aar<, a-f!k;, (a¥ )

) fame valve
F(s)=P(BIC) P(X2100,00D)  =[ - p( ho (avd sams valud)
— _éE(X_)/mo,OOO 1 JaS
([?) :'__ |3) + 5 2 JKk
e £ ¢ N2 ("—(') 7 JAA

(,n) e - :
R (7)o i
g zjjé’) jkA
2 QK
F(x‘_-lo)='|— P(X}\O): f—(f((xv.ﬂ[))fejjz
K +)/ ¢ 4 x=12) +
L{'K(T)_‘_’Zr(l)(l)"‘ 1)((1’2 QAk @g@ L—fp(xfl’i)))+
' oga kK p(x=11
(%) :QQ A \

3
rakk  :EER AAA



